
Page 1

IMTR640 PARTS LIST

A Top Panel 1 IMTR640-TP

Parts ListNo Part No.Qty

6 IM-M6-25

Hardware PackNo Part No.Qty

Drawer Cabinet Right 1

Drawer Cabinet Left 1

Drawer Slides 16" 7

Bolt M6 x 25 mm

Hardware Pack 1

G

M

IMTR640-DCR

IMTR640-DCL

IM-16DS

IMTR640-HP

05-05-2024

B

C

F

G

1

4

E

B

C

H

1Instruction Sheet IMTR640-AI5

2

3

Modesty Panel 1 IMTR640-MP

Leg 8 IMTR-SL

I

16 IM-M8-68

A

D Pencil Drawer 1 IMTR640-PD

K

H

K

I

L

E

(behind)

F

Leveler 8 IM-LAL

J

Filing SS Rod 4 IMTR-SSR

Drawer Lock 2 IM-DL

Grommet 2 IM-GM

Drawer Handle 7 IMTR-DH

M

Bolt M8 x 65 mm w/ Washer

8 IM-M6-30Bolt M6 x 30 mm

D

F

J

1 IM-AK-5Allen Key 5 mm


	图纸和视图
	模型


